
Name:_________________ Date:_________________

Largest cities in Missouri

Which Word
Circle the letter of the word that best completes the sentence.

1) ______ is the third largest city in Kansas.
      A. Springfield       B. Kansas City
      C. Columbia       D. independence

2) The ______ was surprising.
      A. Kansas City       B. Columbia
      C. independence      D. Springfield

3) The capital of South Carolina is ______.
      A. independence      B. Kansas City
      C. Springfield       D. Columbia

4) The capital of Illinois is ______.
      A. Columbia       B. Kansas City
      C. Springfield       D. independence
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